Aim:  How can economists predict the future?
Topic:  Long Run Aggregate Supply

How an idea becomes a graph:  

Introduction:  Predicting how government economic actions will affect the health of the economy is very difficult.  In order to make predictions there needs to be a way of measuring what a healthy economy looks like graphically, and how economic changes will influence variables on the graph.  In order to construct a graph of the economy, let’s first review some previous graphs:   

[image: image1.png]part 1: look at business curve -- where would we like our
economy to be constantly operating?




Part 2:  Now that we know where we want our economy to be constantly operating, let’s create graphical boundaries for our new graph of a healthy economy:  

[image: image2.png]part 2: the graphical boundaries we will be working on to
measure this
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Real GDP - total spending in the
economy

price level - the weighted avg of the prices of all the final
consumer goods and services in an economy.

- why do you think we are using these two to represent our
graph?




Part 3:  What do we want our goal to look like?   

Part 3a:  What did our last graph look like that showed full employment of resources?   How does this graph show full employment of resources?   

Draw and answer:  

Part 4:  Our graph!  


Component #1:  Long Run Aggregate Supply
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Long Run Aggregate Supply (LRAS) -  represents the quantity of goods/services a nation can produce over a long period of time; represents the area where the economy is experiencing full employment; represents full/most efficient use of resources and GDP is constant regardless of changes in the price level.(Think of this as where we want to be)
1)  How does LRAS demonstrate a healthy economy?      How does the graph show this?
Component #2: Aggregate Demand and Aggregate Supply

Aggregate (total) Demand:  the demand for all goods and services by all households, businesses, governments and foreigners, in other words:  C+I+G+Nx.  

Aggregate (total) supply:  the supply of all goods and services by all producers in the economy.  
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(think of this as where we are)
1)  Why do we need to have aggregate demand and supply as part of the graph to measure a healthy economy along with LRAS?   

2)  How is AS and AD similar to our micro supply and demand?  How is it different?  
Now all 3 together:  combine where we want to be and where we are!  
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It is an economist’s job to figure out how to make sure all three factors are aligned.   We can predict the shifts of AD and/or AS depending on policy/economic phenomenon, and can then determine where we are as an economy.  When AS/AD equilibrium is not on the LRAS curve, then we are experiencing either a recession or inflation.  It is also an economist’s job to figure out, when equilibrium is not perfectly aligned, what policy to use to align them, and the effects of that policy and how to sustain long run economic growth.    
1)  How do all three lines together demonstrate a healthy economy?  

2)  How might  economists use this graph to help with predicting shifts in the economy and how to fix it?   

